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ORI 41
8074

DIP ¢ 300mm DP=1. 10m

B - B DIP ¢ 300 Ll .27 m
A IRE 0.15 m Pk S 5L 0.62 m »4E+
g_[_,%%{q: %@U’?ﬂx: 0. 30 m %ﬂ% 0. 30 m ?E%ﬂ%
! A 0.32 m [ 0.23 m LB
PEHIE 0.85 m AS 0.07 m
(RIS 0.20 m
EHIIE R 420. 10 420. 10
EREERR O T
As t= amET 420.10 X 2 + 0.85 X =1 840. 20
SRAE IR T
420.10 X 0.85 357. 09
F R BRI T
0.85 X 1.27 X 420. 10 = 453. 50
WERET (AL ( 0.8 X 0.62 ) —
( 0.32 % X 314 =+ 4 X 420.10 ) =|187.62
R (%R 1)
0.85 X 0.20 X 420.10 =| 71.40
BT 84 1) 4+
453.50 - 187.62 =+ 0.9 = 245. 03
L4551 (As)
357.09 X 0.15 =| 53.56
TREKET (28
HAEYHAEE t=30cm 420.10 X 0.85 =1 357.09
RC-40
FEgET (28)
ARG 1=23cm 420.10 X 0.85 = 357.09
RM-40
BT
FIAEERIET A2 t=Ten 420.10 X 0.85 =1 357.09
PK—3
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DIP ¢ 300mm DP=1. 23m

B - B DIP ¢ 300 Ll .40 m
A IRE 0.15 m Pk S 5L 0.75 m »4E+
g_[_,%%{q: %@U’?ﬂx: 0. 30 m %ﬂ% 0. 30 m ?E%ﬂ%
! A 0.32 m [ 0.23 m LB
PEHIE 1.05 m AS 0.07 m
Bkt B+ 0.20 m
EHIIE R 32. 40 32. 40
EREERR O T
As t= anET 32.40 X 2 + 1.05 X =| 64.80
SRAE IR T
32.40 X 1.05 34. 02
F R BRI T
1.05 X 1.40 X 32. 40 =| 47.63
WERET (AL ( 1.0 X 0.7 ) —
( 032 2 X 3.14 =+ 4 X 32.40 ) =] 22.91
HREIT (LET)
1.05 X 0.20 X 32.40 =| 6.80
s T G4 4+
47.63 - 22.91 =+ 0.9 =| 22.17
L4551 (As)
34.02 X 0.15 =| 5.10
TREKET (28
HAEYHAEE t=30cm 32.40 X 1.05 =| 34.02
RC-40
FEgET (28)
ARG 1=23cm 32.40 X 1. 05 =| 34.02
RM-40
BT
FIAEERIET A2 t=Ten 32.40 X 1.05 =| 34.02
PK—3
+8T
TV KM H=2. Om 32. 40 32.40
1B R
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DIP ¢ 300mm DP=2. 18m

B - B DIP ¢ 300 Ll 2.35 m
A IRE 0.15 m Pk S 5L .70 m »4E+
g_[_,%%{q: %@U’?ﬂx: 0. 30 m %ﬂ% 0. 30 m ?E%ﬂ%
! A 0.32 m [ 0.23 m LB
PEHIE 1.05 m AS 0.07 m
Bkt B+ 0.20 m
EHIIE R 19. 60 19. 60
EREERR O T
As t= anET 19.60 X 2 + 1.05 X =| 39.20
SRAE IR T
19.60 X 1.05 20. 58
F R BRI T
1.05 X 2.35 X 19. 60 =| 48.36
WERET (AL ( 1.0 X .70 ) —
( 032 2 X 3.14 =+ 4 X 19.60 ) =| 33.41
HREIT (LET)
1.05 X 0.20 X 19.60 =| 4.10
s T G4 4+
48.36 - 33.41 =+ 0.9 =| 11.24
L4551 (As)
20.58 X 0.15 =| 3.09
TREKET (28
HAEYHAEE t=30cm 19.60 X 1.05 =| 20.58
RC-40
FEgET (28)
ARG 1=23cm 19.60 X 1. 05 =| 20.58
RM-40
BT
FIAEERIET A2 t=Ten 19.60 X 1.05 =| 20.58
PK—3
+8T
7V KA H=3. Om 19. 60 19. 60
2 B iR
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DIP ¢ 300mm DP=2. 28m

B - B DIP ¢ 300 Ll 2.41 m
BAERRE 0.19 m F bk R .73 m i+
S EREORE 0.30 m AR 0.38  m  FEKE
" A 0.32 m [ 0.42 m LB
PEHIE 1.05 m AS 0.07 m
BERE SN PE m  RETEE m
EHIIE R 4. 50 4,50
EREERR O T
As t=15cmbL F 4. 50 X 2 + 1.05 X 0 =1 9.00
SAE R BUE T
As t=15cmbl k= 4. 50 X 1.05 4.73
A HiE 1 T
1.05 X 2.41 X 4. 50 =] 11.39
R (%R 1) ( 1.05 X .73 ) —
( 0.32 2 X 3.14 = 4 X 4.50 ) =| 7.81
0y T (A1) 4+
11.39 - 0.00 =+ 0.9 =] 11.39
L4551 (As)
4.73 X 0.19 =] 0.90
TlEEET (4)8)
FAEYAREA t=38cm 4,50 X 1. 05 = 4.73
RC-40
FEgET (58)
FAERAMEE t=42em 4,50 X 1.05 = 4.73
RM-40
g T
FAEBRET 222 t=Ten 4. 50 X 1.05 =| 4.73
PK—3
+8T
7V KA H=3. Om 4,50 4,50
2B R
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DIP ¢ 300mm DP=1. 20m

AR - R DIP ¢ 300 Ll .33 m
A IRE 0.19 m Pk S 5L 0.65 m i+
S EREORE 0.30 m AR 0.38  m  FEKE
" A 0.32 m [ 0.42 m LB
PR & 1.05 m AS 0.07 m
PEaRE MR m BERR B IR m
EHIIE R 32. 30 32. 30
EREERR O T
As t=15embL | 32.30 X 2 + 1.05 X 0 =| 64.60
SRAE IR T
As t=15emlL | 32.30 X 1.05 33.92
A T
1.05 X 1.33 X 32. 30 =| 45.11
R (%R 1) ( 1.05 X 0.65 ) —
( 0.32 2 X 3.14 - 4 X 32.30 ) =] 19.45
s T G4 4+
45.11 - 0. 00 - 0.9 =| 45.11
L4551 (As)
33.92 X 0.19 = 6. 44
TREKET 48)
HAEYHAE t=38cm 32.30 X 1.05 =] 33.92
RC-40
FEgET (5/8)
FAERAMEE t=42em 32.30 X 1. 05 =| 33.92
RM-40
BT
FIAEERIET A2 t=Ten 32.30 X 1.05 =] 33.92
PK—3
+H8T
TV KM H=2. Om 32. 30 32.30
1B R
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DIP ¢ 300mm DP=1. 80m

B B DIP ¢ 300 Ll .93 m
BAERRE 0.19 m F bk R .25 m i+
S EREORE 0.30 m AR 0.38  m  FEKE
" A 0.32 m [ 0.42 m LB
PEHIE 1.05 m AS 0.07 m
PEaRE MR m BERR B IR m
EHIIE R 6. 40 6. 40
EREERR O T
As t=15cmbL F 6. 40 X 2 + 1.05 X 0 =] 12.80
SAE R BUE T
As t=15cmbl k= 6. 40 X 1.05 6. 72
A HiE 1 T
1.05 X 1.93 X 6. 40 = 12.97
R (%R 1) ( 1.05 X .25 ) —
( 0.32 2 X 3.14 = 4 X 6.40 ) =| 7.89
0y T (A1) 4+
12.97 - 0.00 =+ 0.9 =1 12.97
L4551 (As)
6. 72 X 0.19 = 1.28
TlEEET (4)8)
FAEYAREA t=38cm 6. 40 X 1. 05 = 6.72
RC-40
FEgET (58)
FAERAMEE t=42em 6. 40 X 1.05 = 6.72
RM-40
g T
FAEBRET 222 t=Ten 6. 40 X 1.05 =| 6.72
PK—3
+8T
TV KM H=2. 5m 6. 40 6. 40
2B R
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DIP ¢ 200mm DP=1. 10m

B - B DIP ¢ 200 Ll .17 m
A IRE 0.15 m Pk S 5L 0.52 m »4E+
e s BIEOME 0.20  m A 0.30  m  TFEKE
ARG —
e IME 0.22 m B 0.23 m  kFEK®
PEHIE 0.7 m AS 0.07 m
Bkt B+ 0.20 m
EHIIE R 4. 90 4,90
EREERR O T
As t= anET 4,90 X 2 + 0.75 9. 80
SAE R BUE T
4,90 X 0.75 3.68
P AR A 1 T
0.75 X .17 X 4,90 4. 30
WERET (AL 0.75 X 0.52 )
0.22 2 X 314 = 4 4.90 ) 1.72
HREIT (LET)
0.75 X 0.20 X 4.90 0. 74
0y T (A1) 4+
4. 30 - .72 =+ 0.9 2.39
L4551 (As)
3. 68 X 0.15 0.55
TlEEET (2)8)
FAEYAREA t=30cm 4,90 X 0.75 3.68
RC-40
FEBRET (28)
ARG 1=23cm 4,90 X 0.75 3.68
RM-40
BT
FAEBRET 222 t=Ten 4,90 X 0.75 3. 68

PK—3
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DIP ¢ 150mm DP=1. 10m

B - B DIP ¢ 150 Ll .12 m
A IRE 0.15 m Pk S 5L 0.47 m »4E+
g_[_,%y\{q: %@U’?ﬂx: 0. 15 m %ﬂ% 0. 30 m ?E%ﬂ%
Hha A 0.17 m [ 0.23 m LB
PEHIE 0.70 m AS 0.07 m
Bkt B+ 0.20 m
EHIIE R 2. 40 2. 40
EREERR O T
As t= anET 2. 40 2 + 0.70 4. 80
SAE R BUE T
2. 40 0.70 1.68
F R BRI T
0.70 .12 X 2. 40 1.88
WERET (AL 0.70 0.47 )
0.17 2 X 3.14 =+ 4 2.40 ) 0.74
HREIT (LET)
0.70 0.20 X 2.40 0. 34
s T G4 4+
1.88 0.74  + 0.9 1.06
L4551 (As)
1.68 0.15 0.25
TlEEET (2)8)
FAEYAREA t=30cm 2.40 0.70 1.68
RC-40
FEBRET (28)
ARG t=23cm 2. 40 0.70 1.68
RM-40
BT
FIAEERIET A2 t=Ten 2. 40 0. 70 1.68

PK—3




O+ TAEHR [iiRC
397

DIP ¢ 150mm DP=1. 30m

B - B DIP ¢ 150 Ll 1.42 m
A IRE 0.05 m Pk S 5L .08 m »4E+
g_[_,%%{q: %@U’?ﬂx: 0. 15 m %ﬂ% 0.19 m ?E%ﬂ%
! A 0.17 m [ 0.15 m /@K
PEHIE 0.70 m AS 0.05 m
EHIIE R 27.00 27.00
EREERR O T
As t= anET 27.00 X 2 =| 54.00
SAE R BUE T
27.00 X 0.70 18.90
F R BRI T
0.70 X 1.42 X 27. 00 =| 26.84
WERET (AL ( 070 X .08 ) —
( 0.17 % X 3.14 =+ 4 X 27.00 ) =] 19.80
HREIT (LET)
0.70 X 0.00 X 27.00 =| 0.00
s T G4 4+
26.84 - 19.80 —+ 0.9 =| 4.84
L4551 (As)
18.90 X 0. 05 =] 0.9
TREEET (1)
BHAEYHAEE t=19¢m 27.00 X 0.70 =| 18.90
RC-40
bEgET (13)
ARG t=15cm 27.00 X 0.70 =| 18.90
RM-40
BT
FIAEERIET A2 t=5en 27.00 X 0.70 =| 18.90
PK—3
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DIP ¢ 100mm DP=1. 10m

B - B DIP ¢ 100 Ll .07 m
A IRE 0.15 m Pk S 5L 0.42 m »4E+
e s BIEOME 0.10 m A 0.30  m  TFEKE
ARG —
e IME 0.12 m B 0.23 m  kFEK®
PEHIE 0.65 m AS 0.07 m
Bkt B+ 0.20 m
EHIIE R 5.20 5. 20
EREERR O T
As t= anET 5. 20 X 2 + 0.65 X =| 10.40
SAE R BUE T
5. 20 X 0. 65 3.38
P AR A 1 T
0. 65 X 1.07 X 5. 20 =| 3.62
WERET (AL ( 0.65 X 0.42 ) —
( 012 %2 X 3.14 =+ 4 X 5.20 ) = 1.36
HREIT (LET)
0.65 X 0.20 X 5.20 =| 0.68
0y T (A1) 4+
3. 62 - .36 = 0.9 =l 2.1
L4551 (As)
3.38 X 0.15 =| 0.51
TlEEET (2)8)
FAEYAREA t=30cm 5. 20 X 0.65 = 3.38
RC-40
FEBRET (28)
ARG 1=23cm 5. 20 X 0. 65 = 3.38
RM-40
BT
FAEBRET 222 t=Ten 5. 20 X 0. 65 =| 3.38
PK—3




@+ TEHEE RWEKEITT (¢350%300) - @505
e 137
DIP ¢ 350mm DP=1. 4m
B B DIP ¢ 350 Ll 2.14 m
BAERRE 0.03 m F bk R 2.04 m i+
/"—‘5 A “/X
= s AR AONE" 0.35 m AR 0.10 m AR
AR A 0.37 m [ 0.00 m L@
PEHIE 1.40 m AS 0.03 m
PR & M m WER% 44 I | m
EHIIE R 3. 40 3. 40
EREERR O T
As t=15emE T 3. 40 2 + 1.40 X 2 9. 60
SAE R BUE T
3. 40 1. 40 4.76
A T
1. 40 3.40 - 0. 37 2
7 + 4 X 3.40 15.8
MR (%R 1) 1.40 2.04 )
0.37 2% X 3.14 - 4 X 3.40 ) 9.35
s T G4 4+
15. 80 0.00 =+ 0.9 15. 80
L5510 (As)
4,76 0.03 0. 14
BAET. (1)2)
FAEYARA t=10cm 3. 40 1. 40 4,76
RC-40
BT
FIAEERIET A2 t=3cn 3. 40 1. 40 4.76
PK—3
+8T
TV KM H=2. 5m 3. 40 3.40

2B R







WNEETE S

G X
S = A Bl o[ % & B O
& Zii} 54 T ¢ 100 4.3 m
1 Zii] B T ¢ 150 28. 2 m
& Zii} % T ¢ 200 4.3 m
1 Zii] B4 T ¢ 300 514.8 m
B8 & U W L ¢ 100 2 |
o8 B 9 W LT ¢ 150 5 |
B8 & U W L ¢ 200 2 |
o8 B 9 W LT ¢ 300 31 |
% ey T EE ¢ 100 b
B =y T EE ¢ 150 5 |
% & T EE  ¢200 1 b
B =y T EE ¢ 300 83 |
% & T BIEE ¢ 100 4 M
P2 & T RIE ¢ 150 5 M
% & T BIEE  $200 1 M
P2 & €L HIEE ¢ 300 33 H
% = T | GUyZ ¢100 b
B & T | GUVvZ7 ¢150 3 =i
% = T | GUrZ  ¢200 1 M
B & T | GUvZ 300 37 =i
t®t o H & B T ¢ 100 2 %
o o &k E L ¢ 150 2 5
t®t o H & B T ¢ 200 1 %
T8 o & E L ¢ 300 11 *®




FLKEMRE

G X
S - S B oo % & B i

LA E&REL|A BLS EWRA| 16 & Fir
Ny bR R E L & I
HoF A kR R E T HO B 1 & Fir
He TR HE K AR E L WO B 1 {i&i T
CEEE R > S - G ¢ 75 1 H
ZAER A S ¢ 75 3 a
vy vay)) -V I AR E T | T35 ¢ 500 X 690H 3 f& Fir
A= vk F L gk ¢ 100 2 =i
A= vk FE T %k ¢ 150 5 =i
A= vk F L gk ¢ 300 3 =i
A= vk FE T %k ¢ 400 =i
B 8k & B 4 L L K ¢ 100 N
B o8k " B 4 L LT K ¢ 150 1 N
B 8k & B 4 L L K ¢ 200 N
B o8k " B 4 L L KIZ ¢ 300 2 N
BE & B W E U T K ¢ 100 1 =
BE & E & )k L KIE ¢ 150 3 H
BE & B W E U T K# ¢ 300 1 =
BE & E W& 0k L ¢ 350 4 H
w W or 7T — 7 T DIP ¢ 100 5.2 m
¥ W or 77 — 7 L DIP ¢ 150 48.0 m
w W or 7T — 7 T DIP ¢ 200 9.2 m
¥ W or 7 — 7 L DIP ¢ 300 1170. 3 m
w W o v — b T 549. 6 m
Aok oE f& L DIP ¢ 350%300 1 & T
fi &% i @ # T ik ¢ 350mm 1 fi& T




N RS



e K B M B =X

5 [EX=3 ik LFE o | CERTE | CmTE | O TE | % TE FHT F i *jﬂ;;” s x(igxgi ir‘wﬁ (225
$300% | 6300 | 6300x | 6300x | ¢300x | 300%
HE N g% 3 90° 15° 22° 11° wizo | mimas 3001 450H 300 200 150 100 o100 | 755100 | 75%200 | 100x200 | Hin B
6X 6 100 1 1
6X 6 150 4 2 6 1 1 1
6X 6 200 1 1
6X 6 300 71 12 83 16 1 1 12 2 2 1 2 1 3 3 1 2 1 1
AL PSSR il bt Il R | | PHLAR PMEDR ) A s | s [ eves [ovrs | wrm FIREIE | Vo CACON It
R 500X 690 | 500% 690 | 500690 4 4 = = s i 7 i
6X 6 100 2 2 1 1 5.2 4.3
GX ¢ 150 1 (K1) 2 2 5 4 3 5 48.0 28.2
6X 6 200 1 1 1 1 1 9.2 4.3
6X 6 300 1 1 1 1 2 9 1 10 33 28 37 1 1170.3 | 512.8
K ¢ 300 1 1 1 3
BF3% ¢ 350 2
&t 1 1 1 1 B 16 g 62% 549. 6
A I — 2
Nt TR e I I A R P e e E e E e EE e I L%/%/ig;x ié@; N E?a%%ﬁ R | R | TR TR
AR T ik G T
6X ¢ 100 1.3 2 4 2 2 2 1 5.2 4.3
6X ¢ 150 28.2 5 5 5 3 2 2 5 1 3 18.0 28.2
6X ¢ 200 1.3 2 1 1 1 1 1 9.2 4.3
6X 6 300 514.8 31 83 33 37 10 10 1 1 1 3 3 2 1 1170.3 | 512.8
K¢ 300 1 1 1($300) 3
BERZ ¢ 350 4 1 1
3 16 1 1 1 3 3 1232.7 | 549.6




MERE W

G X ¢ 300mm Sl HIAE & 521.9
EAMRIER 514.8

% ¥ MEHRE & R

=X & G X% 6. 000 426. 000
H il e GX%® 1. 500 1. 500
H b " GX& 1. 660 1. 660
H ) e GX%® 4. 640 4. 640
H bl H GX%& 2. 380 2. 380
H ) e GX%® 3.970 3.970
H b H G X% 4. 860 4. 860
H ) e GX%® 0. 880 0. 880
H bl H GX%& 2. 440 2. 440
H il e GX%® 4.110 4. 110
H b H G X% 3.530 3.530
H ) e GX%® 4. 180 4. 180
H bl H GX%& 2. 000 2. 000
Z ) 1 G X4 1. 500 1. 500
Z ) & G X% 1. 150 1. 150
Z ) 1 G X4 1. 150 1. 150
Z ) & G X &M 1. 270 1. 270
Z ) 1 G X4 1. 270 1. 270
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